Answers for Ex 3.1
a) To elicit possible variations

b) Glottal stop only an allophone of /t/ before a consonant (see rule in directions)

c) She also has variable rule of t-glottalization before consonant

d) Because the two sounds are both the same phoneme, JA perceives them to be the same sound.  Therefore, the two different pronunciations of the same word with the same meaning does not trigger a meaningful contrast, and she therefore perceives them to be the same.  They are the “same sound”.
e) MA understands linguistically what BH was trying to get at – that these two distinct phones can be interchangeable in a certain environment.  Therefore, she has a meta-awareness of the phonetic signal.  JA does not have this meta awareness and relies on her own phonology, which indicates that these two distinct phones are the “same sound”.
Answers for Ex 3.2

One way to do this is to have a rule that deletes any non-alveolar stop in a final stop-stop sequence.  
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This analysis predicts that there may be underlying forms of words that end in final non-coronal stops, which may not be accurate.  However, the rule does work in terms of predicting correct forms for the data, just in predicting correct underlying forms.
The other way to explain the data is through a constraint:

	*
	
	+stop
	
	/ [+stop] ___ ]word

	
	
	-CORONAL
	
	


This analysis is more explanatory because it predicts that English does not allow (even underlyingly) non-coronal stops word finally after another stop.  

